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27.

28.

29;

30.

3%

Which of the following statements is not true

according to the first paragraph?

A. The writer is a Portuguese native.

B. The writer’s rib was broken by a buffalo.

C. The African buffalo is very fierce.

D. The writer attacked the buffalo but did not
kill it. ¥

32,

33.

The phrase ‘a close shave’ means

A. theWwriter came very close to the buffalo.

B. the buffalo territory is near the writer’s
home. - :

C. the writer had a near to death encounter.

D. the writer came close to shaving a buffalo.

34.

When did the buffalo attack the writer? _
A. After he had walked half a mile awajy
it. :
B.Assoon as he walked past it.
C. When he began peering ahead
D. When it'realized that he was confu

‘What was the buffalo"s usual trick?
A. Doubling on its own tracks. :
B. Frightening the target. -~
C. Attacking at the slightest oppc:'rt‘tm} ]
D. Planning to attack from behind.

Which of the following proverbs best
summarizes the third paragraph?

A. Out of sight out of mind.

B. Once bitten twice shy.

C. Surprise beats even the strongest.
D. A friend in need is a friend indeed.

37.

Why do you think the branches crashed?

A. The massive size of the buffalo moved
them.

B. The animal was moving very fast.

C. The bush was very thick.

D. Itwas the animal’s trick to haye the writer
move so that it could attack easily.

38.

MERIT 002 5

Why was the writer unable to shoot?
A. Things happened too fast.

B. The gun failed to release the bullet.
C. The writer was too scared to move.
D. He was in intense pain.

What saved the writer?

A. His colleagues shot the buffalo.

B. The animal gave up.

C. His colleagues presence distracted the
_animal for awhile.

D’ The huge log.

How does the writer describe the pain in his
side?
A. Unbearable.

. B. It gave him a burning sensation.

G ‘Deadly.

D. Undescribable.

‘the writer say that ‘the riffie might

- have'been'in the moon?’

t w:as;i-_\iery close to the buffalo.

B:dt could not help at all.

C. 1t was far away.
5 Getting to it was a tall order.

¢ For how long did the buffalo try to get to the

writer?

A. For more than haif an hour.
B. A long time.

C. An hour and some minuies.
D. For half an hour.

How did the writer’s counterparts save
themselves? .

A. By hiding in the undergrowth.

B. By shooting at the animal.

C. By climbing up trees.

D. By hiding in the bushes.

The best title for the passage could be?
A. The four hunters.

B. An encounter with a buffalo.

C. Life in the wild.

D. Why buffalos are dangerous.
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